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=xq QUAIE 2
27} A-2 SARA 5100 / 1 10 2023.03.11 0.002 Chrysotile
A-3 SARA 5100 / 1 10 2023.03.11 0.004 Chrysotile
H7|=
HRHEFE)
A-4 SARA 5100 / 1 10 2023.03.11 0.001 Chrysotile




90) 20234 03g 13 - FEZFH|Cicy
(BR/TY (2/2) (f/cc) e
A-1 SARA 5100 / 1 10 2023.03.13 0.002 Chrysotile
H7|=
=xq LA =2
;Edi'j A-2 SARA 5100 / 1 10 2023.03.13 0.002 Chrysotile
A-3 SARA 5100 / 1 10 2023.03.13 0.001 Chrysotile
H7|=
AAHEHE)
A-4 SARA 5100 / 1 10 2023.03.13 0.002 Chrysotile
91) 20234 038 13Y - H|ZIHAK
Naws  =moxmy 59 3 Y oy gy 58 B dEMue
(BR/TE) (L/2) /cc) S5
A-1 SARA 5100 / 1 10 2023.03.13 0.003 Chrysotile
H7|=
=xq UAIE
;'I'j A-2 SARA 5100 / 1 10 2023.03.13 0.004 Chrysotile
A- SARA 5100 / 1 10 2023.03.13 0.002 Chrysotile
H7|=
RS
A- SARA 5100 / 1 10 2023.03.13 0.001 Chrysotile
92) 20234 038 13 - skstx||lDy
AlEI:I k=3 =] le—l ég )él‘l:ll %%t =x{ OIAI ég 7E:‘J_"|' 17:-!%&!?_94
A e (BR/+Y (0/2 = /cc) =5
A-1 SARA 5100 / 1 10 2023.03.13 0.002 Chrysotile
H7|=
= x4 A2
;J_,j A-2 SARA 5100 / 1 10 2023.03.13 0.004 Chrysotile
A-3 SARA 5100 / 1 10 2023.03.13 0.002 Chrysotile
H7|=
ARHEHE)
A-4 SARA 5100 / 1 10 2023.03.13 0.003 Chrysotile






